
Numeri indici di borsa 
1. Il titolo x ha PMx = 100; VMSx = 10000; Fx = 50000; Il titolo y ha 

PMy = 150; VMSy = 5000; Fy = 20000. Quali pesi avrebbero in un indice 
binario con ponderazione basata sulla liquidità? 
 

2. I titoli A, B, C hanno spuntato le seguenti quotazioni: 1° periodo: PA = 
15; PB = 20; PC = 25, 2° periodo: PA = 18; PB = 15; PC = 20. Tenuto conto 
che il volume medio del  flottante (in migliaia) si è mantenuto ai seguenti 
livelli : FA = 120; FB = 150; FC = 50. costruire un indice di borsa tipo 
Standard & Poor's  ponderato con il volume medio del flottante. 
 

3. Prima della emissione di Nh = 1000 nuove azioni in libera circolazione, 
il corso del titolo h era di Ph = 25 euro (cum‐diritto) con un flottante di 
Vh = 5000; il costo di sottoscrizione delle nuove azioni _e Sh = 5 euro. Calcolare 
il corso teorico ex‐diritto ed il fattore correttivo. 

4. 

 

5.  Il concetto di flottante per i numeri indici di borsa 
6.   Vantaggi e svantaggi di usare il corso secco e corso tel 
quel negli indici di borsa. 
7.   Rilevanza della distinzione tra numeri indici a base fissa e numeri indici 
a base mobile nell'ambito dei numeri indici di borsa. 
 


